
 can, can't, can... ? Verbformen

      Example:      they (+) = they can      you (-) = you can´t      we (?) = can we

1. we (-) 0,623 you (+) we can't ; you can

2. you (-) 0,762 we (+) you can't ; we can

3. it (-) 0,434 I (+) it can't ; I can

4. you (?) 0,533 we (-) can you ; we can't

5. she (-) 0,282 they (+) she can't ; they can

6. it (?) 0,393 I (-) can it ; I can't

7. we (?) 0,557 you (-) can we ; you can't

8. they (?) 0,018 she (-) can they ; she can´t

9. you (?) 0,733 he (-) can you ; he can't

10. I (?) 0,207 it (-) can I ; it can't

11. it (+) 0,456 I (?) it can ; can I

12. she (+) 0,288 they (?) she can ; can they

13. she (?) 0,248 they (-) can she ; they can't

14. they (-) 0,823 she (+) they can't ; she can

15. I (-) 0,956 it (+) I can't ; it can

16. he (?) 0,977 you (-) can he ; you can't

17. he (+) 0,504 you (?) he can ; can you

18. I (+) 0,949 it (?) I can ; can it

19. he (-) 0,439 you (+) he can't ; you can

20. they (+) 0,445 she (?) they can ; can she

21. you (-) 0,824 he (+) you can't ; he can

22. you (+) 0,747 we (?) you can ; can we

23. we (+) 0,976 you (?) we can ; can you

Fill in the gaps with a correct form of can.
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